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TR ERREER NERS No. 333
T E: 4 £ | BEMRY — 30 FETS
T F % @& mAfH RIFETIEH2ET HAA
T #H| SF24188H mi SF243/138 FT
BIER L=697m, REERIEE W=7. 6m.4. 6m
REHEETI(W=150#%) L=550m, Y—U30KBIL 16#/M. XE=SHS—FET 16
T T # = MBI (EHEW=15cm) L=1, 360m, HMEL (BEHEW=15cm) L=10m
BIERTARYLOEHET (RPN—5014/%, FB)A=354m., ZTOMBEEZETR 1R
SET A=220n
A L A B|SMxFI12A23B  FEi 9 B 00 %
#Z 8N F B — R E 3 & k3
FEMAE (BLik) 12,814,000 5 & il BR ffi #& (Bi1k) 11,450,000
% FL &8 (BLik) 1145000018 & & # 12,595,000
% L * =47 ZERTRE2019%12
(EKHEFEH) PEHEEKASH
x # A A L & B w & VYN
IR/ —FHEARH 11,450,000
KX IXTYH 11,450,000
EMEEHRASH 11,450,000
w479/ 11,450,000
BR=#EITYY 12,814,000 O
BREtFaHT 11,450,000
AP HE LR 11,450,000
hEpE XX =4 11,450,000| <LCIZkYRRE
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